Science 7, Section 2.2 Notes   Cycles of Matter

Carbon Cycle (diagram, students must know)

 Plants use e from sun to convert H2O and CO2 into food using photosynthesis. Plants use the Carbon from the CO2 and ‘expel’ the O in the form of O2 into the atmosphere (or the water). The Carbon (C) moves up the food chain from organism to organism

When an organism uses food to access energy, that stored C is released as CO2. The released C (CO2) is available to be used by plants (producers) again and again in the Carbon cycle.

Some Carbon ends up being stored, in wood, dead tissues, as oil, as coal, and as natural gas. This C is released when carbon-based fuels are burned (wood, oil, coal, natural gas, etc.)

Water Cycle (diagram 2.12, students must know)

The water cycle represents the continuous movement of water through the environment.  There are 4 main processes in the Water Cycle:

1.
Evaporation: liquid H2O to gaseous H2O, requires Energy (hence why it cools things off)

2.
Transpiration: water  in a plant evaporates from the leaves/stem/flowers

3.
Condensation: gaseous H2O to liquid H2O (gives off heat) … when air cools it can not hold as much gaseous water VAPOUR…

4.
Precipitation: water falling to the earth as rain, snow, sleet, dew, fog, and so on…

the water cycle includes rivers, streams, lakes, ponds, ground water, oceans, ice, and run-off

You need to know figure 2.13.

Pollution and Bioacculumulation

-Many pollutants also cycle through the environment,  and some of them accumulate at the top of a food chain.  We define pollution as any substance that is added to the environment faster than it can be broken down naturally in the environment. Pollutants are things that cause pollution. Many artificial (man-made) substances are pollutants, some examples such as DDT do not break down, they accumulate, and they dissolves in fats, so it gets stored in animals, and then absorbed as those animals are eaten, and the amount of DDT accumulates as you move up a food pyramid. This is called BIOACCUMULATION.

We need to remember that DDT saves lives, but insects have developed (ing) resistance to it, so its value is dropping, and the ‘improved insects are much harder to deal woth.

DDT is short for  “Di chloro – di phenyl – tri chloro ethane”

PCBs (poly chlorinated bi phenyls) are another group of chemicals that do not break down, so they also accumulate in the environment.

